
Feladat: számláló 0->3->2->5->7->4->10->15->14->0 D3 D2 D1 D0

mi Q3n Q2n Q1n Q0n Q3n+1 Q2n+1 Q1n+1 Q0n+1 J3 K3 J2 K2 J1 K1 J0 K0 D3 D2 D1 D0 L UP

0 0 0 0 0 0 0 1 1 0 x 0 x 1 x 1 x 0 0 1 1 1 x

1 0 0 0 1 x x x x x x x x x x x x x x x x x x

2 0 0 1 0 0 1 0 1 0 x 1 x x 1 1 x 0 1 0 1 1 x

3 0 0 1 1 0 0 1 0 0 x 0 x x 0 x 1 0 0 1 0 0 0

4 0 1 0 0 1 0 1 0 1 x x 1 1 x 0 x 1 0 1 0 1 x

5 0 1 0 1 0 1 1 1 0 x x 0 1 x x 0 0 1 1 1 1 x

6 0 1 1 0 x x x x x x x x x x x x x x x x x x

7 0 1 1 1 0 1 0 0 0 x x 0 x 1 x 1 0 1 0 0 1 x

8 1 0 0 0 x x x x x x x x x x x x x x x x x x

9 1 0 0 1 x x x x x x x x x x x x x x x x x x

10 1 0 1 0 1 1 1 1 x 0 1 x x 0 1 x 1 1 1 1 1 x

11 1 0 1 1 x x x x x x x x x x x x x x x x x x

12 1 1 0 0 x x x x x x x x x x x x x x x x x x

13 1 1 0 1 x x x x x x x x x x x x x x x x x x

14 1 1 1 0 0 0 0 0 x 1 x 1 x 1 0 x 0 0 0 0 1 x

15 1 1 1 1 1 1 1 0 x 0 x 0 x 0 x 1 1 1 1 0 0 0

Qn Qn+1 J K

0  0 0 X x x x x x
0  1 1 X 1 x x x x x
1  0 X 1 x x x x x x 1
1  1 X 0 x x x x x x x

D3 D2 D1 D0 L UP CE

0 0 1 1 1 x 1

x x x x x x 1

0 1 0 1 1 x 1

x x x x 0 0 1

1 0 1 0 1 x 1

0 1 1 1 1 x 1

x x x x x x x

0 1 0 0 1 x 1

x x x x x x x

x x x x x x x

1 1 1 1 1 x 1 x 1 x x x x

x x x x x x x x x x x 1 x

x x x x x x x x x x x x x 1

x x x x x x x x x x 1 x x x x

0 0 0 0 1 x 1

x x x x 0 0 1

Feladatleírás:https://mazsola.iit.uni-miskolc.hu/~vajo/digitalia/sorrendi_halozatok_kovetelmeny.doc

Szimuláció:

https://www.falstad.com/circuit/
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𝐽3 = 𝐾3 = Q2 ∗ 𝑄0

𝐽2 = 𝑄1 ∗ 𝑄0 𝐾2 = 𝑄0

𝐽1 =1 𝐾1 = 𝑄3 ∗ 𝑄2 + 𝑄2 ∗ 𝑄0 + 𝑄3 ∗ 𝑄0

𝐾0 = 𝑄1𝐽0 = 𝑄2

https://mazsola.iit.uni-miskolc.hu/~vajo/digitalia/sorrendi_halozatok_kovetelmeny.doc

